Journal of Fractional Calculus and Applications,

Vol. 6(2) July 2015, pp. 1-10.

ISSN: 2090-5858.

http://fcag-egypt.com/Journals/JFCA/

DIRECT ESTIMATES FOR DURRMEYER-BASKAKOV-STANCU TYPE OPERATORS USING HYPERGEOMETRIC REPRESENTATION

VISHNU NARAYAN MISHRA, PREETI SHARMA

ABSTRACT. In the present article, we introduced and study hypergeometric representation of Durrmeyer-Baskakov-Stancu type operators. First, we estimate moments of these operators using hypergeometric series. Furthermore, we obtain an error estimation in simultaneous approximation for said operators.

1. Introduction

For $f \in C[0, \infty)$, the Durrmeyer-Baskakov operators were study by Sahai and Prashad [15] is defined as

$$\mathfrak{D}_{n}(f,x) = (n-1) \sum_{k=1}^{\infty} p_{n,k}(x) \int_{0}^{\infty} p_{n,k}(t) f(t) dt, \tag{1}$$

where $p_{n,k}(x) = \frac{(n)_k}{k!} \frac{x^k}{(1+x)^{n+k}}$.

In [5] Gupta and Yadav introduced the Baskakov-Beta-Stancu operators and invetigated some approximation properties like asymptotic formula, moments of these operators using hypergeometric series and errors estimation in simultaneous approximation. The behavior of these operators is very similar to the operators recently introduced by Mishra et al. [8], [9].

It is observed that as an application of the special functions, we can write the different form of the operators $\mathfrak{D}_n(f,x)$ in terms of Hypergeometric series. For details on Hypergeometric series, we refer the readers to [3].

The hypergeometric function is defined as

$$_{2}F_{1}(a,b;c;x) = \sum_{k=0}^{\infty} \frac{(a)_{k}(b)_{k}}{(c)_{k}k!} x^{k}.$$

Submitted Nov. 11, 2014.

²⁰¹⁰ Mathematics Subject Classification. 41A25, 41A35.

 $Key\ words\ and\ phrases.$ Hypergeometric series, Durrmeyer-Baskakov-Stancu operators, Estimation of errors.

The confluent hypergeometric function is a degenerate form of the hypergeometric function ${}_{2}F_{1}(a,b;c;x)$ which arises as a solution the confluent hypergeometric differential equation is defined as

$$_{1}F_{1}(a;c;x) = \sum_{k=0}^{\infty} \frac{(a)_{k}}{(c)_{k}} \frac{x^{k}}{k!},$$

where the Pochhammer symbol $(n)_k$ is defined as

$$(n)_k = n(n+1)(n+2)(n+3)....(n+k-1).$$

Motivated by the recent studies on certain operators by Gupta et al.[5] and Mishra et al.[9] using hypergeometric form, we can write the operators (1) as

$$\mathfrak{D}_{n}(f,x) = (n-1) \sum_{k=0}^{\infty} \frac{(n)_{k}}{k!} \frac{x^{k}}{(1+x)^{n+k}} \int_{0}^{\infty} \frac{(n)_{k}}{k!} \frac{t^{k}}{(1+t)^{n+k}} f(t) dt$$
$$= (n-1) \int_{0}^{\infty} \frac{f(t)}{[(1+x)(1+t)]^{n}} \sum_{k=0}^{\infty} \frac{(n)_{k}^{2}}{(k!)^{2}} \frac{(xt)^{k}}{[(1+x)(1+t)]^{k}} dt.$$

By hypergeometric series ${}_{2}F_{1}(a,b;c;x) = \sum_{k=0}^{\infty} \frac{(a)_{k}(b)_{k}}{(c)_{k}k!}x^{k}$ and the Pochhammer symbol $(n)_{k}$ and using the equality $(1)_{k} = k!$, we can write

$$\mathfrak{D}_n(f,x) = (n-1) \int_0^\infty \frac{f(t)}{[(1+x)(1+t)]^n} {}_2F_1\bigg(n,n;1;\frac{xt}{(1+x)(1+t)}\bigg) dt.$$

Now, applying Pfaff-Kummer transformation

$$_{2}F_{1}(a,b;c;x) = (1-x)^{-a} {}_{2}F_{1}\left(a,c-b;c;\frac{x}{x-1}\right)$$

we have

$$\mathfrak{D}_n(f,x) = (n-1) \int_0^\infty \frac{f(t)}{(1+x+t)^n} {}_2F_1\left(n,1-n;1;\frac{-xt}{1+x+t}\right) dt.$$
 (2)

This is the another form of the operators (1) in terms of hypergeometric functions. In 1974, Khan [6] studied approximation of functions in various classes using different types of operators. Several other researchers have studied in this direction and obtained different approximation properties of many operators and we mention some of them as [1, 2, 7, 10, 11, 12, 13, 14]. Here, we introduce Durrmeyer-Baskakov-Stancu operators in terms of hypergeometric functions, for $0 \le \alpha \le \beta$

$$\mathfrak{D}_{n}^{(\alpha,\beta)}(f,x) = (n-1) \int_{0}^{\infty} f\left(\frac{nt+\alpha}{n+\beta}\right) \frac{1}{(1+x+t)^{n}} \,_{2}F_{1}\left(n,1-n;1;\frac{-xt}{1+x+t}\right) dt. \quad (3)$$

For $\alpha = \beta = 0$ the operators (3) reduces to the operators (1). We know that

$$\sum_{k=0}^{\infty} p_{n,k}(x) = 1, \ \int_{0}^{\infty} p_{n,k}(t)dt = \frac{1}{n-1}.$$

Let us consider

$$C_{\nu}[0,\infty) = \{ f \in C[0,\infty) : f(t) = O(t)^{\nu}, \nu > 0 \}.$$

The operators $\mathfrak{D}_n^{(\alpha,\beta)}$ are well defined for $f \in C[0,\infty)$. In the present article we establish moments of Durrmeyer-Baskakov-Stancu operators using the technique of hypergeometric series. Next, we give an error estimation in simultaneous approximation for the operators (3)

2. Moment estimation and auxiliary results

In this section, we establish certain lemmas which will be useful for the proof of our main theorems.

Lemma 1 For n > 0 and r > -1, we have

$$\mathfrak{D}_n(t^r, x) = (n-1) \frac{\Gamma(n-r+1)\Gamma(r+1)}{\Gamma(n)} (1+x)^r {}_2F_1 \left(1-n, -r; 1; \frac{x}{1+x}\right). \tag{4}$$

Moreover.

$$D_n(t^r, x) = \frac{(n-r-2)!(n+r-1)!}{(n-1)!(n-2)!}x^r + r^2 \frac{(n+r-2)!(n-r-2)!}{(n-1)!(n-2)!}x^{r-1} + O(n^{-2}).$$
(5)

Proof. Taking $f(t) = t^r$, t = (1 + x)u and using Pfaff-Kummer transformation the right-hand side of (2), we get

$$\mathfrak{D}_{n}(t^{r},x) = (n-1) \int_{0}^{\infty} \frac{(1+x)^{r+1}u^{r}}{[(1+x)(1+u)]^{n}} \sum_{k=0}^{\infty} \frac{(n)_{k}(1-n)_{k}}{(k!)^{2}} \frac{(-x(1+x)u)^{k}}{[(1+x)(1+u)]^{k}} du$$

$$= (n-1) \sum_{k=0}^{\infty} \frac{(n)_{k}(1-n)_{k}}{(k!)^{2}} (-x)^{k} (1+x)^{r-n+1} \int_{0}^{\infty} \frac{u^{r+k}}{(1+u)^{n+k}} du$$

$$= (n-1) \sum_{k=0}^{\infty} \frac{(n)_{k}(1-n)_{k}}{(k!)^{2}} (-x)^{k} (1+x)^{r-n+1} B(r+k+1,n-r-1)$$

$$= (n-1) \sum_{k=0}^{\infty} \frac{(n)_{k}(1-n)_{k}}{(k!)^{2}} (-x)^{k} (1+x)^{r-n+1} \frac{\Gamma(r+k+1)\Gamma(n-r-1)}{\Gamma(n+k)}.$$

Using $\Gamma(n+k+1) = \Gamma(n+1)(n+1)_k$, we have

$$\mathfrak{D}_{n}(t^{r},x) = (n-1) \sum_{k=0}^{\infty} \frac{(n)_{k}(1-n)_{k}}{(k!)^{2}} (-x)^{k} (1+x)^{r-n+1} \frac{\Gamma(r+1)(r+1)_{k}\Gamma(n-r-1)}{\Gamma(n)(n)_{k}}$$

$$= (n-1)(1+x)^{r-n+1} \frac{\Gamma(r+1)\Gamma(n-r-1)}{\Gamma(n)} \sum_{k=0}^{\infty} \frac{(r+1)_{k}(1-n)_{k}}{(k!)^{2}} (-x)^{k}$$

$$= (n-1)(1+x)^{r-n+1} \frac{\Gamma(r+1)\Gamma(n-r-1)}{\Gamma(n)} {}_{2}F_{1}(1-n,1+r;1;-x).$$

Using Pfaff–Kummer transformation transformation

$$_{2}F_{1}(a,b;c;x) = (1-x)^{-a}{}_{2}F_{1}\left(a,c-b;c;\frac{x}{x-1}\right)$$
, we have

$$= (n-1)\frac{\Gamma(n-r-1)\Gamma(r+1)}{\Gamma(n)}(1+x)^{r}{}_{2}F_{1}\left(1-n,-r;1;\frac{x}{1+x}\right).$$

The other consequence (5) follows from the above equation by writing the expansion of hypergeometric series.

Lemma 2 For $0 \le \alpha \le \beta$ we have

$$\mathfrak{D}_{n}^{(\alpha,\beta)}(t^{r},x) = x^{r} \frac{n^{r}}{(n+\beta)^{r}} \frac{(n+r-1)!(n-r-2)!}{(n-1)!(n-2)!}$$

$$+ x^{r-1} \left\{ r^{2} \frac{n^{r}}{(n+\beta)^{r}} \frac{(n+r-2)!(n-r-2)!}{(n-1)!(n-2)!} + r\alpha \frac{n^{r-1}}{(n+\beta)^{r}} \frac{(n+r-2)!(n-r+1)!}{(n-1)!(n-2)!} \right\}$$

$$+ x^{r-2} \left\{ r(r-1)^{2} \alpha \frac{n^{r-1}}{(n+\beta)^{r}} \frac{(n+r-3)!(n-r-1)!}{(n-1)!(n-2)!} + \frac{r(r-1)}{2} \alpha^{2} \frac{n^{r-2}}{(n+\beta)^{r}} \frac{(n+r-3)!(n-r+2)!}{(n-1)!(n-2)!} \right\} + O(n^{-2}).$$

Proof. By using binomial theorem, the relation between operators (2) and (3) can be defined as

$$\mathfrak{D}_{n}^{(\alpha,\beta)}(t^{r},x) = (n-1)\sum_{k=0}^{\infty} p_{n,k}(x) \int_{0}^{\infty} p_{n,k}(t) \left(\frac{nt+\alpha}{n+\beta}\right)^{r} dt$$

$$= (n-1)\sum_{k=0}^{\infty} p_{n,k}(x) \int_{0}^{\infty} p_{n,k}(t) \sum_{j=0}^{\infty} \binom{r}{j} \frac{(nt)^{j} \alpha^{r-j}}{(n+\beta)^{r}} dt$$

$$= \sum_{j=0}^{\infty} \binom{r}{j} \frac{n^{j} \alpha^{r-j}}{(n+\beta)^{r}} \mathfrak{D}_{n}(t^{j},x)$$

Using (5), we get Lemma (2).

Lemma 3[4] For $m \in \mathbb{N} \setminus \{0\}$, if

$$U_{n,m}(x) = \sum_{k=0}^{\infty} p_{n,k}(x) \left(\frac{k}{n} - x\right)^m,$$

then $U_{n,0}(x) = 1, U_{n,1}(x) = 0$ and we have the recurrence relation:

$$nU_{n,m+1}(x) = x(1+x) \left[U'_{n,m}(x) + mU_{n,m-1}(x) \right].$$

Consequently, $U_{n,m}(x) = O\left(n^{-[(m+1)/2]}\right)$, where [m] is integral part of m.

Lemma 4 For $m \in \mathbb{N} \bigcup \{0\}$, if

$$\mu_{n,m}(x) = \mathfrak{D}_n^{(\alpha,\beta)}((t-x)^m, x)$$

$$= (n-1)\sum_{k=0}^{\infty} p_{n,k}(x) \int_0^{\infty} p_{n,k}(t) \left(\frac{nt+\alpha}{n+\beta} - x\right)^m dt$$

then

$$\mu_{n,0}(x) = 1, \quad \mu_{n,1}(x) = \frac{(2n+2\beta-n\beta)x + (1+\alpha)n - 2\alpha}{(n-2)(n+\beta)},$$

$$\mu_{n,2}(x) = \left(\frac{2n^3 + (b^2 - 4\beta + 6)n^2 + (12\beta - 5\beta^2)n + 6\beta^2}{(n-2)(n-3)(n+\beta)^2}\right)x^2 + \left(\frac{2n^3 + (6+4\alpha - 2\beta - 2\alpha\beta)n^2 + (6\beta + 10\alpha\beta - 12\alpha)n - 12\alpha\beta}{(n-2)(n-3)(n+\beta)^2}\right)x + \frac{(2+\alpha^2 + 2\alpha)n^2 - (6\alpha + 5\alpha^2)n + 6\alpha^2}{(n-2)(n-3)(n+\beta)^2},$$

JFCA-2015/6(2)DIRECT ESTIMATES FOR DURRMEYER-BASKAKOV-STANCU TYPE OPERATORS USING HYPERGEOMETRIC

and for n>m we have recurrence relation:

$$(n+\beta)\mu_{n,m+1}(x) = x(1+x)[\mu'_{n,m}(x) + m\mu_{n,m-1}(x)] + [m+1+\alpha - nx - \beta x - x]\mu_{n,m}(x) - m\left(\frac{\alpha}{n+\beta} - x\right)\mu_{n,m-1}(x)$$

From the recurrence relation, it easily verified that for all $x \in [0, \infty)$, we have

$$\mu_{n,m}(x) = O(n^{-[(m+1)/2]}).$$

Proof. Taking derivative of $\mu_{n,m}(x)$

$$\mu'_{n,m}(x) = (n-1) \sum_{k=0}^{\infty} p'_{n,k}(x) \int_{0}^{\infty} p_{n,k}(t) \left(\frac{nt+\alpha}{n+\beta} - x\right)^{m} dt$$

$$-m(n-1) \sum_{k=0}^{\infty} p_{n,k}(x) \int_{0}^{\infty} p_{n,k}(t) \left(\frac{nt+\alpha}{n+\beta} - x\right)^{m-1} dt$$

$$\mu'_{n,m}(x) = -m\mu_{n,m-1}(x) + (n-1) \sum_{k=0}^{\infty} p'_{n,k}(x) \int_{0}^{\infty} p_{n,k}(t) \left(\frac{nt+\alpha}{n+\beta} - x\right)^{m} dt$$

using $x(1+x)p'_{n,k}(x) = (k-(n+1)x)p_{n,k}(x)$, we get

$$x(1+x)[\mu'_{n,m}(x) + m\mu_{n,m-1}(x)] = (n-1)\sum_{k=0}^{\infty} (k - (n+1)x)p_{n,k}(x) \int_{0}^{\infty} p_{n,k}(t) \left(\frac{nt + \alpha}{n+\beta} - x\right)^{m} dt$$

$$= (n-1)\sum_{k=0}^{\infty} (k - nx)p_{n,k}(x) \int_{0}^{\infty} p_{n,k}(t) \left(\frac{nt + \alpha}{n+\beta} - x\right)^{m} dt - x\mu_{n,m}(x)$$

$$= (n-1)\sum_{k=0}^{\infty} p_{n,k}(x) \int_{0}^{\infty} [k - nt + n(t-x)]p_{n,k}(t) \left(\frac{nt + \alpha}{n+\beta} - x\right)^{m} dt$$

$$-x\mu_{n,m}(x)$$

$$= I - x\mu_{n,m}(x). \tag{6}$$

We can write I as

$$\begin{split} I &= (n-1)\sum_{k=0}^{\infty}p_{n,k}(x)\int_{0}^{\infty}[k-nt+n(t-x)]p_{n,k}(t)\left(\frac{nt+\alpha}{n+\beta}-x\right)^{m}dt\\ &= \left[\left(n-1\right)\sum_{k=0}^{\infty}p_{n,k}(x)\int_{0}^{\infty}[k-nt]p_{n,k}(t)\left(\frac{nt+\alpha}{n+\beta}-x\right)^{m}dt\\ &+(n-1)\left(\sum_{k=0}^{\infty}p_{n,k}(x)\int_{0}^{\infty}n(t-x)p_{n,k}(t)\left(\frac{nt+\alpha}{n+\beta}-x\right)^{m}dt\right)\right]\\ &= I_{1}+I_{2},\;(say). \end{split}$$

To estimate
$$I_2$$
 using $t = \frac{n+\beta}{n} \left[\left(\frac{nt+\alpha}{n+\beta} - x \right) - \left(\frac{\alpha}{n+\beta} - x \right) \right]$, we have

$$I_{2} = (n-1) \left(\sum_{k=0}^{\infty} p_{n,k}(x) \int_{0}^{\infty} n(t-x) p_{n,k}(t) \left(\frac{nt+\alpha}{n+\beta} - x \right)^{m} dt \right) \right]$$

$$= (n-1) \frac{n+\beta}{n} n \left[\sum_{k=0}^{\infty} n p_{n,k}(x) \int_{0}^{\infty} s_{n,k}(t) \left(\frac{nt+\alpha}{n+\beta} - x \right)^{m+1} dt \right]$$

$$-(n-1) \left(\frac{\alpha}{n+\beta} - x \right) \sum_{k=0}^{\infty} p_{n,k}(x) \int_{0}^{\infty} p_{n,k}(t) \left(\frac{nt+\alpha}{n+\beta} - x \right)^{m} dt \right]$$

$$= (n+\beta) \left[\mu_{n,m+1}(x) - \left(\frac{\alpha}{n+\beta} - x \right) \mu_{n,m} \right].$$

Next to estimate I_1 using the equality, $t p'_{n,k}(t) = [k - nt]p_{n,k}(t)$

$$I_{1} = (n-1)\sum_{k=0}^{\infty} p_{n,k}(x) \int_{0}^{\infty} t p_{n,k}'(t) \left(\frac{nt+\alpha}{n+\beta} - x\right)^{m} dt,$$
again putting $t = \frac{n+\beta}{n} \left[\left(\frac{nt+\alpha}{n+\beta} - x\right) - \left(\frac{\alpha}{n+\beta} - x\right) \right]$, we get
$$I_{1} = (n-1)\frac{n+\beta}{n} \left[\sum_{k=0}^{\infty} p_{n,k}(x) \int_{0}^{\infty} p_{n,k}'(t) \left(\frac{nt+\alpha}{n+\beta} - x\right)^{m+1} dt - \left(\frac{\alpha}{n+\beta} - x\right) \sum_{k=0}^{\infty} p_{n,k}(x) \int_{0}^{\infty} p_{n,k}'(t) \left(\frac{nt+\alpha}{n+\beta} - x\right)^{m} dt \right].$$

Now integrating by parts and by simple computation, we get

$$I_1 = \left[-(m+1)\mu_{n,m}(x) + m\left(\frac{\alpha}{n+\beta} - x\right)\mu_{n,m-1}(x) \right].$$

Put the values of I_1 and I_2 in I, we get

$$I = \left[-(m+1)\mu_{n,m}(x) + m\left(\frac{\alpha}{n+\beta} - x\right)\mu_{n,m-1}(x) \right] + (n+\beta)\left[\mu_{n,m+1}(x) - \left(\frac{\alpha}{n+\beta} - x\right)\mu_{n,m}\right].$$

Now, put value of I in (7), we get

$$x(1+x)[\mu'_{n,m}(x) + m\mu_{n,m-1}(x)] = -(m+1)\mu_{n,m}(x) + m\left(\frac{\alpha}{n+\beta} - x\right)\mu_{n,m-1}(x) + (n+\beta)\left(\mu_{n,m+1}(x) - \left(\frac{\alpha}{n+\beta} - x\right)\mu_{n,m}\right) - x\mu_{n,m}(x).$$

Hence,

$$(n+\beta)\mu_{n,m+1}(x) = x(1+x)[\mu'_{n,m}(x) + m\mu_{n,m-1}(x)] + [m+1+\alpha - nx - \beta x - x]\mu_{n,m}(x) - m\left(\frac{\alpha}{n+\beta} - x\right)\mu_{n,m-1}(x),$$

which is the required result.

Lemma 5[4] There exist the polynomials $q_{i,j,r}(x)$ on $[0,\infty)$, independent of n and k such that

$$x^{r}(1+x)^{r}\frac{d^{r}}{dx^{r}}p_{n,k}(x) = \sum_{\substack{2i+j \le r\\i,j>0}} n^{i}(k-nx)^{j}q_{i,j,r}(x)p_{n,k}(x).$$

3. Main result

In this section, we give an estimate of the degree of approximation by $\mathfrak{D}_{n,\alpha,\beta}^{(r)}(f(t),x)$ for smooth functions.

Theorem 1 Let $f \in C_{\nu}[0, \infty)$ for some $\nu > 0$ and $r \le q \le r + 2$. If $f^{(q)}$ exists and is continuous on $(a - \eta, b + \eta) \subset (0, \infty)$, $\eta > 0$, then for sufficiently large n

$$||\mathfrak{D}_{n,\alpha,\beta}^{(r)}(f,x) - f^{(r)}(x)||_{C[a,b]} \le C_1 n^{-1} \sum_{i=r}^{q} ||f^i||_{C[a,b]} + C_2 n^{1/2} \omega(f^{(q)}, n^{1/2}) + O(n^{-m}),$$
(7)

where C_1 , C_2 are constants independent of f and n, $\omega(f,\delta)$ is the modulus of continuity of f on $(a-\eta,b+\eta)$ and $||.||_{C[a,b]}$ denotes the sup-norm on [a,b].

Proof. Using the Taylor's, expansion, we have

$$f(t) = \sum_{i=0}^{q} \frac{f^{(i)}(x)}{i!} (t-x)^{i} + \frac{f^{(q)}(x) - f^{(q)}(\xi)}{q!} (t-x)^{q} \chi(t) + h(t,x)(1-\chi(t))$$

where ξ lies between t and x, and $\chi(t)$ is the characteristic function on interval $(a-\eta,b+\eta)$.

For $t \in (a - \eta, b + \eta)$ and $x \in [a, b]$, we have

$$f(t) = \sum_{i=0}^{q} \frac{f^{(i)}(x)}{i!} (t-x)^{i} + \frac{f^{(q)}(x) - f^{(q)}(\xi)}{q!} (t-\xi)^{q}.$$

For $t \in [0, \infty) \setminus (a - \eta, b + \eta)$ and $x \in [a, b]$, we define

$$h(t,x) = f(t) - \sum_{i=0}^{q} \frac{f^{(i)}(x)}{i!} (t-x)^{i}.$$

Now,

$$\mathfrak{D}_{n,\alpha,\beta}^{(r)}(f,x) - f^{(r)}(x) = \left\{ \sum_{i=0}^{q} \frac{f^{(i)}(x)}{i!} \mathfrak{D}_{n,\alpha,\beta}^{(r)}((t-x)^{i},x) - f^{(r)}(x) \right\} + \mathfrak{D}_{n,\alpha,\beta}^{(r)}\left(\frac{f^{(q)}(x) - f^{(q)}(\xi)}{q!}\right)$$

$$(t-x)^{q}\chi(t), x + \mathfrak{D}_{n,\alpha,\beta}^{(r)}(h(t,x)(1-\chi(t)), x) = S_{1} + S_{2} + S_{3}.$$

Using Lemma 2, we get

$$S_{1} = \sum_{i=0}^{q} \frac{f^{(i)}(x)}{i!} \sum_{j=0}^{i} {i \choose j} (-x)^{i-j} \frac{d^{r}}{dx^{r}} \left[x^{j} \frac{n^{j}}{(n+\beta)^{j}} \frac{(n+j-1)!(n-j-2)!}{(n-1)!(n-2)!} + x^{j-1} \left(j^{2} \frac{n^{j}}{(n+\beta)^{j}} \frac{(n+j-2)!(n-j-2)!}{(n-1)!(n-2)!} + j\alpha \frac{n^{j-1}}{(n+\beta)^{j}} \frac{(n+j-2)!(n-j+1)!}{(n-1)!(n-2)!} \right) + x^{j-2} \left(j(j-1)^{2} \alpha \frac{n^{j-1}}{(n+\beta)^{j}} \frac{(n+j-3)!(n-j-1)!}{(n-1)!(n-2)!} + \frac{j(j-1)}{2} \alpha^{2} \frac{n^{j-2}}{(n+\beta)^{j}} \frac{(n+j-3)!(n-j+2)!}{(n-1)!(n-2)!} \right) + O(n^{-m}) \right] - f^{(r)}(x).$$

Hence

$$||S_1||_{C[a,b]} \le C_1 n^{-1} \sum_{i=r}^q ||f^i||_{C[a,b]} + O(n^{-m}), \text{ uniformly on } [a,b].$$

Next, we estimate S_2 as

$$|S_{2}| \leq (n-1) \sum_{k=0}^{\infty} |p_{n,k}^{(r)}(x)| \int_{0}^{\infty} p_{n,k}(t) \left\{ \left| \frac{f^{(q)}(x) - f^{(q)}(\xi)}{q!} \right| \left| \frac{nt + \alpha}{n + \beta} - x \right|^{q} \chi(t) \right\} dt$$

$$\leq \frac{\omega(f^{(q)}, \delta)}{q!} (n-1) \left[\sum_{k=0}^{\infty} |p_{n,k}^{(r)}(x)| \int_{0}^{\infty} p_{n,k}(t) \left(1 + \frac{\left| \frac{nt + \alpha}{n + \beta} - x \right|^{q}}{\delta} \right) \left| \frac{nt + \alpha}{n + \beta} - x \right|^{q} dt$$

$$\leq \frac{\omega(f^{(q)}, \delta)}{q!} (n-1) \left[\sum_{k=0}^{\infty} |p_{n,k}^{(r)}(x)| \int_{0}^{\infty} p_{n,k}(t) \left(\left| \frac{nt + \alpha}{n + \beta} - x \right|^{q} + \delta^{-1} \left| \frac{nt + \alpha}{n + \beta} - x \right|^{q+1} \right) dt$$

Now, using Schwarz inequality for integration and then for summation, we get

$$(n-1)\sum_{k=0}^{\infty}p_{n,k}(x)|k-nx|^{j}\int_{0}^{\infty}p_{n,k}(t)\left|\frac{nt+\alpha}{n+\beta}-x\right|^{q}\leq \sum_{k=0}^{\infty}p_{n,k}(x)|k-nx|^{j}\bigg(\int_{0}^{\infty}p_{n,k}(t)dt\bigg)^{\frac{1}{2}}\\ \bigg(\int_{0}^{\infty}p_{n,k}(t)\bigg(\frac{nt+\alpha}{n+\beta}-x\bigg)^{2q}dt\bigg)^{\frac{1}{2}}\\ \leq \bigg(\sum_{k=0}^{\infty}p_{n,k}(x)(k-nx)^{2j}\bigg)^{\frac{1}{2}}\bigg(\sum_{k=0}^{\infty}p_{n,k}(x)\int_{0}^{\infty}p_{n,k}(t)\bigg(\frac{nt+\alpha}{n+\beta}-x\bigg)^{2q}dt\bigg)^{\frac{1}{2}}.$$

Hence

$$(n-1)\sum_{k=0}^{\infty} p_{n,k}(x)|k-nx|^{j} \int_{0}^{\infty} p_{n,k}(t) \left| \frac{nt+\alpha}{n+\beta} - x \right|^{q} dt = O(n^{j/2})O(n^{-q/2})$$

$$= O(n^{(j-q)/2}), \quad (8)$$

$$uniformly \ on \ [a,b].$$

Therefore, by Lemma 2 and (8), we get

$$(n-1)\sum_{k=0}^{\infty}|p_{n,k}^{(r)}(x)|\int_{0}^{\infty}p_{n,k}(t)\left|\frac{nt+\alpha}{n+\beta}-x\right|^{q}dt \leq (n-1)\sum_{k=0}^{\infty}\sum_{\substack{2i+j\leq r\\i,j\geq 0}}\frac{n^{i}q_{i,j,r}(x)}{x^{r}(1+x)^{r}}p_{n,k}(x)|k-nx|^{j}\int_{0}^{\infty}p_{n,k}(t)\left(\frac{nt+\alpha}{n+\beta}-x\right)^{q}dt$$

$$\leq K\sum_{\substack{2i+j\leq r\\i,j\geq 0}}n^{i}\left(\sum_{k=1}^{\infty}p_{n,k}(x)|k-nx|^{j}\int_{0}^{\infty}p_{n,k}(t)\left|\frac{nt+\alpha}{n+\beta}-x\right|^{q}dt\right)$$

$$=K\sum_{\substack{2i+j\leq r\\i,j\leq r}}n^{i}O(n^{(j-q)/2})=O(n^{(r-q)/2}), \ uniformly \ on \ [a,b], \ \ (9)$$

where $K = \sup_{\substack{i,j \leq r \\ i,j \geq 0}} \sup_{x \in [a,b]} \frac{q_{i,j,r}(x)}{x^r(1+x)^r}$. Choosing $\delta = n^{-1/2}$ and making use of (8), we

get for any m > 0.

$$||S_2||_{C[a,b]} \le \frac{\omega(f^{(q)}, n^{-1/2})}{q!} [O(n^{(r-q)/2}) + n^{1/2}O(n^{(r-q-1)/2}) + O(n^{-q})] \le C_2(n^{-(r-q)/2})\omega(f^{(q)}, n^{-1/2}).$$

For $t \in [0, \infty) \setminus (a - \eta, b + \eta)$, we can choose δ such that $|t - x| \ge \delta$ for all $x \in [a, b]$. Thus by Lemma 2, we get

$$|S_3| \le \sum_{\substack{2i+j \le r\\i,j > 0}} \frac{n^i q_{i,j,r}(x)}{x^r (1+x)^r} \sum_{k=0}^{\infty} p_{n,k}(x) |k-nx|^j \int_{|t-x| \ge \delta} p_{n,k}(t) |h(t,x)| dt$$

We can find a constant M_1 such that

$$|h(t,x)| \leq M_1 \left| \frac{nt + \alpha}{n+\beta} - x \right|^{\beta} \ for \ |t-x| \geq \delta,$$

where $\beta \geq (\nu, q)$. Hence applying Schwarz inequality and Lemma (2) and (2), it is easy to see that $S_3 = O(n^{-r})$ for any r > 0 uniformly on [a, b]. Combining the estimates of S_1, S_2 and S_3 , the required result follows.

Acknowledgments

The authors would like to express their deep gratitude to the anonymous learned referee(s) and the editor for their valuable suggestions and constructive comments, which resulted in the subsequent improvement of this research article. Special thanks are due to our great master and friend academician Prof. Ahmed M. A. El-Sayed, Managing Editor Journal of Fractional Calculus and Applications for kind cooperation, smooth behaviour during communication and for his efforts to send the reports of the manuscript timely. The authors are also grateful to all the editorial board members and reviewers of esteemed journal JFCA. The First author VNM acknowledges that this project was supported by the Cumulative Professional Development Allowance (CPDA), SVNIT, Surat (Gujarat), India. The second author PS is thankful to the Ministry of Human Resource Development, New Delhi, India for supporting this research article to carry out her research work (Ph.D. in Full-time Institute Research (FIR) category) under the supervision of Dr. Vishnu Narayan Mishra at Sardar Vallabhbhai National Institute of Technology, Ichchhanath Mahadev Dumas Road, Surat (Gujarat), India. Both authors conceived of

the study, participated in its design and the sequence alignment. Both authors read and approved the Final version of manuscript. The authors declare that there is no conflict of interests regarding the publication of this research article.

References

- [1] P. Agarwal, A Study of New Trends and Analysis of Special Function, LAP LAMBERT Academic Publishing, 2013.
- [2] Mohd. F. Ali, M. Sharma, L.N. Mishra, V.N. Mishra; Dirichlet Average of Generalized Miller-Ross Function and Fractional Derivative, Turkish Journal of analysis and number theory (2015), in press.
- [3] G. Gasper, M. Rahman, Basic Hypergeometric Series, vol. XX, p. 287. Cambridge University Press, Cambridge (1990). ISBN 0-521-35049-2.
- [4] V. Gupta, A note on modified Baskakov type operators, Approx. Theory Appl. 10(3)(1994), 74-78.
- [5] V. Gupta and R. Yadav, Direct estimates in simultaneous approximation for BBS operators, Appl. Math. Comp. 218(2012), 11290-11296.
- [6] H.H. Khan, Approximation of Classes of functions, Ph.D. Thesis, AMU Aligarh, (1974).
- [7] V.N. Mishra, P. Sharma, A short note on approximation properties of q-Baskakov-Szász-Stancu operators, Southeast Asian Bull. Math. (2015), in press.
- [8] V.N. Mishra, K. Khatri and L.N. Mishra, On Simultaneous Approximation for Baskakov-Durrmeyer-Stancu type operators, Journal of Ultra Scientist of Physical Sciences 24(3)A (2012), 567-577.
- [9] V.N. Mishra, H. H. Khan, K. Khatri, L.N. Mishra, Hypergeometric representation for Baskakov- Durrmeyer Stancu type operators, Bull. Math. Anal. Appl, vol. 5 (3) (2013), 18-26.
- [10] V.N. Mishra, K. Khatri, L.N. Mishra, Statistical approximation by Kantorovich-type discrete q-Beta operators, Adv. Differ. Equ. Vol. 2013 (2013) Art ID 345.
- [11] V.N. Mishra, K. Khatri, L.N. Mishra, Deepmala, Inverse result in simultaneous approximation by Baskakov- Durrmeyer-Stancu operators, J. Inequal. Appl. Vol. 2013 (2013) Art ID 586.
- [12] M. Mursaleen, Asif Khan, H.M. Srivastava, K.S. Nisar, Operators constructed by means of q-Lagrange polynomials and A-statistical approximation. Appl. Math. Comput. 219, 6911–6918 (2013).
- [13] M. Mursaleen, Asif Khan, Generalized q-Bernstein-Schurer Operators and Some Approximation Theorems, J. Funct. Spaces Appl., Volume 2013, Article ID 719834, 7 pages, http://dx.doi.org/10.1155/2013/719834.
- [14] H.M. Srivastava, N. Magesh and J. Yamini, Initial coefficient estimates for Bi-λ estimates for Bi-λ-convex and Bi-μ stalike function connected with arithmetic and geometric mean, Electronic Journal of Mathematical Analysis and Applications, Vol. 2(2) July 2014, No. 15, pp. 152-162.
- [15] A. Sahai and G. Prasad, J. of Approximation Theory 45, 122 (1985).

Vishnu Narayan Mishra

Department of Applied Mathematics and Humanities, Sardar Vallabhbhai National Institute of Technology, Ichchhanath Mahadev Dumas Road Surat (Gujarat), India,

L. 1627 AWADH PURI COLONY BENIGANJ, PHASE -III, OPPOSITE - INDUSTRIAL TRAINING INSTITUTE (I.T.I.), AYODHYA MAIN ROAD FAIZABAD-224 001, (UTTAR PRADESH)

 $E ext{-}mail\ address: wishnunarayanmishra@gmail.com, wishnu$

Preeti Sharma

Department of Applied Mathematics and Humanities, Sardar Vallabhbhai National Institute of Technology, Ichchhanath Mahadev Dumas Road Surat (Gujarat), India

 $E ext{-}mail\ address:$ preeti.iitan@gmail.com